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1. Methyl orange is the example of which type of dye

A. acid dye

B. mordant dye

C. azo dye

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RfR1wp2KhS14


D. both (a) and (c) .

Answer: D

Watch Video Solution

2. Enzymes with two sites are called

A. apoenzyme

B. allosteric enzyme

C. holoenzyme

D. conjugate enzyme.

Answer: B

https://dl.doubtnut.com/l/_RfR1wp2KhS14
https://dl.doubtnut.com/l/_MAFzpb2H2iVl


Watch Video Solution

3. Teflon is a polymer of:

A. tetrafluoroethylene

B. tetrabromoethylene

C. tetraiodoethylene

D. tetrachloroethylene .

Answer: A

Watch Video Solution

4. Lucas test is used for the determination of :

https://dl.doubtnut.com/l/_MAFzpb2H2iVl
https://dl.doubtnut.com/l/_G7r44W7uy6r2
https://dl.doubtnut.com/l/_gtuW7HvB4KIz


A. alochols

B. alkyl halides

C. phenols

D. aldehydes .

Answer: A

Watch Video Solution

5. Which of the following is involved in Sandmaryer's

reaction ?

A. ferrous salt

B. diazonium salt

https://dl.doubtnut.com/l/_gtuW7HvB4KIz
https://dl.doubtnut.com/l/_AuRzY8a6Xjmk


C. ammonium salt

D. cupromonium salt.

Answer: B

Watch Video Solution

6. The weight of one molecules of a compound 

is

A.  g

B. 

C. 

D. 

C60H122

1.2 × 10− 20

2.025 × 1023g

1.4 × 10− 21g

6.023 × 1023g

https://dl.doubtnut.com/l/_AuRzY8a6Xjmk
https://dl.doubtnut.com/l/_OuClF594MtWN


Answer: C

Watch Video Solution

7. Which of the following is not an ore of Iron

A. limonite

B. caniterite

C. magnetite

D. none of these .

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OuClF594MtWN
https://dl.doubtnut.com/l/_4YCbFuz6jhbw


8. It P is the pressure and  is the density of a gas, then

P and  are realted as :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ρ

ρ

P ∝ ρ

P ∝ (1/ρ)

P ∝ ρ2

P ∝ (1/ρ2)

https://dl.doubtnut.com/l/_ly4uMdtAr0YU


9. Quantum number of an atom can be defined on the

basis of

A. Hund's rule

B. Pauli's exclusion principle

C. Aufbau's principle

D. Heisenberg's uncertainty principle .

Answer: B

Watch Video Solution

10. Which of the following has maximum energy ?

https://dl.doubtnut.com/l/_lTq527wSA7P3
https://dl.doubtnut.com/l/_Kg3VDi5XR50E


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

11. The intermediate formed in aldol condensation is

A. aldol

B. carbanion

C. alcohol

https://dl.doubtnut.com/l/_Kg3VDi5XR50E
https://dl.doubtnut.com/l/_38MlNfnYqLdQ


D. -hydrogen ester .

Answer: B

Watch Video Solution

α

12. The compound most suitable for the preparation of

cyanohydrin is

A. 

B. 

C. 

D. 

C2H5COOH

C6H5NH2

C2H5COC2H5

C2H5 − C2H5

https://dl.doubtnut.com/l/_38MlNfnYqLdQ
https://dl.doubtnut.com/l/_qVXtGupIdPbh


Answer: C

Watch Video Solution

13. In the reaction :

, the compound  is known as

A. aldol

B. Schiff's base

C. Schiff's reagent

D. Benedict's reagent .

Answer: B

C6H5CHO + C6H5NH2 → C6H5N = HCC6H5 + H2O

C6H5N = HCC6H5

https://dl.doubtnut.com/l/_qVXtGupIdPbh
https://dl.doubtnut.com/l/_QNzlIT8tqtGD


Watch Video Solution

14. Action of acetylene on dilute  gives

A. acetic acid

B. acetaldehyde

C. acetone

D. acetoacetic ester .

Answer: B

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_QNzlIT8tqtGD
https://dl.doubtnut.com/l/_CoFzWcZCoS4e


15.  can be converted to  by

the action of

A. 

B. 

C. 

D.  .

Answer: C

Watch Video Solution

CH3COCH3 CH3CH2CH3

HIO3

HNO3

HI

H3PO3

https://dl.doubtnut.com/l/_lRLUrWpg83fP


16. At  distilled water has  concentration

equal . The value of  at

this temperature will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

80∘ C [H3O + ]

[OH − ]1 × 10− 6mole/litre Kw

1 × 10− 6

1 × 10− 12

1 × 10− 9

1 × 10− 15

https://dl.doubtnut.com/l/_mmHoejmP5ovd


17. The  of a solution at  containing 

sodium acetate and  acetic acid is (  for 

)

A. 4.09

B. 6.09

C. 5.09

D. 7.09

Answer: C

Watch Video Solution

pH 25∘ C 0.10M

0.03M pKa

CH3COOH = 4.57

https://dl.doubtnut.com/l/_qKayuWt5bL0Y


18. The oxidation state of Fe in  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Fe3O4

3/2

5/4

4/5

8/3

19. For the reaction :  the order

of reaction is

H2 + Cl
sunlight
−−−−→ 2HCl

https://dl.doubtnut.com/l/_93ZC0NpsE1s2
https://dl.doubtnut.com/l/_yBex6xCxFFZC


A. 0

B. 2

C. 1

D. 3

Answer: A

Watch Video Solution

20. The correct order of solubility in water for

 is

A. 

B. 

He, Ne, Ar, Kr, Xe,

He > NE > Ar > Kr > Xe

Xe > Kr > Ar > Ne > He

https://dl.doubtnut.com/l/_yBex6xCxFFZC
https://dl.doubtnut.com/l/_7ijRTmZadqyw


C. 

D. .

Answer: B

Watch Video Solution

Ne > Ar > Kr > He > Xe

Ar > Ne > He > Kr > Xe

21. Spectrum of  is similar to that of

A. H

B. Be

C. He

D. Ne .

Li2 +

https://dl.doubtnut.com/l/_7ijRTmZadqyw
https://dl.doubtnut.com/l/_uPPHdoksWB3O


Answer: A

Watch Video Solution

22. IUPAC name of

 is

A. 2-cyano, 3-methylhexane

B. 2-dimethyl, 4-cyanopentane

C. 3-methyl, 5-cyanohexane .

D. 2-cyano, 3-methylhexane .

Answer: C

W h Vid S l i

CH3 − C
∣

( CH2CH3 )

H − CH2 − C
∣

CN

H − CH3

https://dl.doubtnut.com/l/_uPPHdoksWB3O
https://dl.doubtnut.com/l/_i9pzmL14jeBU


Watch Video Solution

23. Which of the following molecule has highest bond

energy ?

A. F-F

B. N-N

C. C-C

D. O-O

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_i9pzmL14jeBU
https://dl.doubtnut.com/l/_UhJO4FDJMLFc


24. The heat of neutrasation of a strong acid and a

strong alkali is  . The heat released when

 mole of  solution is mixed with  mole of 

 is

A. 11.5 kJ

B. 34.5 kJ

C. 23.5 kJ

D. 58.8 kJ

Answer: A

Watch Video Solution

57.0KJmol− 1

0.5 HNO3 0.2

KOH

https://dl.doubtnut.com/l/_EMlrY5B2CJhi
https://dl.doubtnut.com/l/_A1nB7vhsJMKc


25. The solubility of  is  at . The 

 value for  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CuBr 2 × 10− 4 25∘ C

Ksp CuBr

4 × 10− 8mol2L− 2

4 × 10− 4mol2L− 2

4 × 10− 11mol2L− 2

4 × 10− 15mol2L− 2

26. Schottky defect defines imperfection in the lattice

structure of a

https://dl.doubtnut.com/l/_A1nB7vhsJMKc
https://dl.doubtnut.com/l/_NMUg7Sj1Ak73


A. solid

B. gas

C. liquid

D. plasma .

Answer: A

Watch Video Solution

27. An  type structure is found in

A. 

B. 

C. 

AB2

NaCl

CaF2

Al2O3

https://dl.doubtnut.com/l/_NMUg7Sj1Ak73
https://dl.doubtnut.com/l/_7j024WaFAMVM


D. 

Answer: B

Watch Video Solution

N2O

28. Azimuthal quantum number defines.

A. elm ratio of electron

B. angular momentum of electron

C. spin of electron

D. magnetic momentum of electron .

Answer: B

https://dl.doubtnut.com/l/_7j024WaFAMVM
https://dl.doubtnut.com/l/_RVNoVQYXCSZ8


Watch Video Solution

29. Which of the of following does not have valence

electron in 3d-series ?

A. Fe (III)

B. Cr(I)

C. Mn(II)

D. P(0)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RVNoVQYXCSZ8
https://dl.doubtnut.com/l/_MrL2Jz82ZMd9


30. The following reaction is known as 

A. Kharasch effect

B. Williamson's sythesis

C. Darzen's procedure

D. Hunsdiecker reaction .

Answer: C

Watch Video Solution

C2H5OH + SOCI2

Pyridine
−−−−→ C2H5CI + SO2 + HCI

31. Which of the following compound is tribasic acid?

https://dl.doubtnut.com/l/_FON9RIW9oep6
https://dl.doubtnut.com/l/_QgK2HOcgfctX


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H3PO2

H3PO4

H3PO3

H4P2O7

32. Thermite is amixture of iron oxide and

A. zine powder

B. potassium metal

C. sodium shavings

https://dl.doubtnut.com/l/_QgK2HOcgfctX
https://dl.doubtnut.com/l/_PdjZUGJXtHzW


D. aluminium powder .

Answer: D

Watch Video Solution

33. Which of the following reaction produces hydrogen

?

A. 

B. 

C. 

D. 

Mg + H2O

H2S4O8 + H2O

BaO2 + HCl

Na2O2 + 2HCl

https://dl.doubtnut.com/l/_PdjZUGJXtHzW
https://dl.doubtnut.com/l/_EEe58tw4HVxm


Answer: A

Watch Video Solution

34. An element (atomic mass ) having bcc

structure has unit cell edge 400 pm .Them density of

the element is

A. 

B. 

C. 

D. 

Answer: C

= 100g/mol

2.144g/cm3

7.289g/cm2

5.188g/cm2

10.367g/cm3

https://dl.doubtnut.com/l/_EEe58tw4HVxm
https://dl.doubtnut.com/l/_UmcGKFiDC7x3


Watch Video Solution

35. The size of colloidal particle is

A.  to m

B.  to  m

C.  to  m

D.  to m .

Answer: C

Watch Video Solution

10− 3 10− 9

10− 9 10− 12

10− 6 10− 9

10− 12 10− 19

https://dl.doubtnut.com/l/_UmcGKFiDC7x3
https://dl.doubtnut.com/l/_dARMOozuoyIr


36. Which of the following is a chiral compound?

A. hexane

B. n-butane

C. methane

D. 2,3,4-trimethyl hexane .

Answer: D

Watch Video Solution

37. Which of the following has the highest dipole

moment ?

https://dl.doubtnut.com/l/_D11dzNFKOQcd
https://dl.doubtnut.com/l/_AsyCsDbwR1V1


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

38. The length of C-C bonds in benzene is

https://dl.doubtnut.com/l/_AsyCsDbwR1V1
https://dl.doubtnut.com/l/_IpV2tEjhpJ8m


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.22Å

1.54Å

1.39Å

1.56Å

39. The number of  bonds present in pent-

4en-1-yne is :

A. 10,3

B. 4,9

σ − and π

https://dl.doubtnut.com/l/_IpV2tEjhpJ8m
https://dl.doubtnut.com/l/_M6u9Qgkw5uYb


C. 3,10

D. 9,4

Answer: A

Watch Video Solution

40. Which of the following is most stable ?

A. 1-butene

B. 1-pentene

C. 2-butene

D. 2-pentene

https://dl.doubtnut.com/l/_M6u9Qgkw5uYb
https://dl.doubtnut.com/l/_kj9fyodCIvyq


Answer: D

Watch Video Solution

41. Assertion : During an adiabatic process, heat energy

is not exchanged between system and its

surroundings. 

Reason : The temperature of a gas increases when it

undergoes andn adiabatic expansion.

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

https://dl.doubtnut.com/l/_kj9fyodCIvyq
https://dl.doubtnut.com/l/_TMgXEbj8wHmt


assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

42. Statement-1: Potassium and caesium are used in

photo-electric cells. 

Statement-2: Potassium and caesium emit electrons on

exposure to light above certain minimum frequency.

https://dl.doubtnut.com/l/_TMgXEbj8wHmt
https://dl.doubtnut.com/l/_a2DowjtfGN6K


A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_a2DowjtfGN6K


43. Assertion: Physisorption of molecules occures on

surface only. 

Reason: in this process, the bonds of the adsorbed

molecules are broken.

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

https://dl.doubtnut.com/l/_F2ycDFTDXJ6h


Answer: C

Watch Video Solution

44. Assertion: Boiling and melting point of amides are

higher than corresponding acids 

Reason : It is due to strong intermolecular hydrogen

bonding in their molention.

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

https://dl.doubtnut.com/l/_F2ycDFTDXJ6h
https://dl.doubtnut.com/l/_YTQBEKlgBDGl


assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

45. Assertion : Stannous chloride gives grey precipitate

with mercuric chloride , but stannic chloride does not

do so. 

Reason : Stannous chloride is a powerful oxidising

agent which oxidises mercuric chloride to metallic

mercury .

https://dl.doubtnut.com/l/_YTQBEKlgBDGl
https://dl.doubtnut.com/l/_oK5v7PgjpNe9


A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_oK5v7PgjpNe9


46. Assertion : DNA molecules and RNA molecules are

found in the nucleus of cell. 

Reason : On heating, enzymes do not lose their specific

activity.

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

https://dl.doubtnut.com/l/_6SNFXk1PCxGX


Answer: D

Watch Video Solution

47. Assertion : All halogens are coloured. 

Reason : The halogens absorb visible light .

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

https://dl.doubtnut.com/l/_6SNFXk1PCxGX
https://dl.doubtnut.com/l/_8UxOjXZKlFGB


D. If both assertion and reason are false.

Answer: A

Watch Video Solution

48. Assertion : F-F bond has low bond dissociation 

Reason : The fluorine has lower reactivity.

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

https://dl.doubtnut.com/l/_8UxOjXZKlFGB
https://dl.doubtnut.com/l/_KxuurWArOlo7


C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

49. Assertion : Phenol is a weak acid than ethanol. 

Reason : Groups with +M effect and -I effect decrease

acidity at m-position .

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

https://dl.doubtnut.com/l/_KxuurWArOlo7
https://dl.doubtnut.com/l/_0B9Ca4MoW7Nn


B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: D

Watch Video Solution

50. (A) Ether behaves as bases in the presence of

mineral acids. 

https://dl.doubtnut.com/l/_0B9Ca4MoW7Nn
https://dl.doubtnut.com/l/_B5VgCh8oGKJ1


(R ) Due to the presence of lone pair of electrons on

oxygen.

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_B5VgCh8oGKJ1


51. Assertion : For Balmer series of hydrogen spectrum,

the value . 


Reason : The value of n for a line in Balmer series of

hydrogen spectrum having the highest wave length is

4 and 6 .

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

n1 = 2 and n2 = 3, 4, 5

https://dl.doubtnut.com/l/_bvAq8N5s96pQ


Answer: C

Watch Video Solution

52. Each question contains STATEMENT-I(Assertion) and

STATEMENT-2(Reason).the statement carefully and mark

the correct answer accoring to the instrution given

below: 

STATEMENT - 1 : An increase in surface area increases

the rate of evaporation.

STATEMENT - 2 : Stronger the intermolecular attaction

force, faster is the rate of evaporation at a given

temperature.

https://dl.doubtnut.com/l/_bvAq8N5s96pQ
https://dl.doubtnut.com/l/_ejURmOdddV1j


A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ejURmOdddV1j


53. Assertion : Diamond is a bad conductor . 

Reason : Graphite is a good conductor.

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rOHYAaqNRfRe


54. Assertion: Atoms can neither be created nor

destroyed. 

Reason: Under similar condition of temperature and

pressure, equal volume of gases does not contain

equal number of atoms.

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

https://dl.doubtnut.com/l/_rOHYAaqNRfRe
https://dl.doubtnut.com/l/_fHzu5K6CFeoI


D. If both assertion and reason are false.

Answer: C

Watch Video Solution

55. Assertion: Mass and volume are extensive

properties. 

Reason: Mass/volume is also an extensive parameter.

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

https://dl.doubtnut.com/l/_fHzu5K6CFeoI
https://dl.doubtnut.com/l/_Lf3JHGvAKSSB


assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

56. Assertion:Absolute values of intenal energy of

substances cannot be determined. 

Reason:It is impossible to determine exact values of

constituent energies of the substances.

https://dl.doubtnut.com/l/_Lf3JHGvAKSSB
https://dl.doubtnut.com/l/_lUbfc8wqlqkE


A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lUbfc8wqlqkE


57. Assertion : Cuprous ion  is colouless

whereas cupric ion  is blue in the aqueous

solution. 

Reason : Cuprous ion  has unpaired electrons

while cupric ion  does not .

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

(Cu + )

(Cu + + )

(Cu + )

(Cu + + )

https://dl.doubtnut.com/l/_hJLvJ5dznbSo


Answer: C

View Text Solution

58. Assertion : Dinegative anion of oxygen  is

quite common but dinegative anion of sulphur 

is less common. 

Reason : Covalency of oxygen is two.

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

(O2 − )

(S2 − )

https://dl.doubtnut.com/l/_hJLvJ5dznbSo
https://dl.doubtnut.com/l/_l4VnWXpavjM1


assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: B

View Text Solution

59. Assertion : -bond is strong white  -bond is a weak

bond. 

Reason :Atomic rotate freely about -bond.

A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

σ π

π

https://dl.doubtnut.com/l/_l4VnWXpavjM1
https://dl.doubtnut.com/l/_wUicjOLj0NY6


B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

60. Assertion : Absorption spectrum consists of some

bright lines separated by dark spaces . 

Reason : Emission spectrum consists of dark lines.

https://dl.doubtnut.com/l/_wUicjOLj0NY6
https://dl.doubtnut.com/l/_DRpFktgi89if


A. If both the assertion and reason are true and

reason is correct explanation of the assertion .

B. If both the assertion and reason are true but

reason is not a correct explanation of the

assertion .

C. If the assertion is true but the reason is false.

D. If both assertion and reason are false.

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_DRpFktgi89if

